Which of the following issues are the most important in determining how you will vote in the upcoming Ontario election?
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Now, on these three issues that are important to you which party do you think is best to deal with them? Healthcare

<$6 <$100K

Base: All Answering (unwtd) 398 149 76 73 40 61 21 118 60 55 107 138 96 302 145 248 82 139 177 8 44 169 177 345 44
Base: All Answering (wtd) 362 145 62 83 31 55 21 103 69 63 89 103 77 285 133 224 79 110 174 40 82 135 104 312 42
103 37 16 21 7 14 1 43 16 14 29 32 20 83 38 64 25 22 55 25 12 28 37 93 9

The Liberals 28% 26% 26% 25% 22% 25% 4% 42% 23% 23% 32% 31% 26% 29% 28% 29% 32% 20% 32% 62% 15% 21% 36% 30% 21%
* * * * - A* * - * * * * * - * TU -
85 34 20 14 6 14 7 21 15 17 23 28 19 66 35 46 26 31 28 S 13 31 36 74 8

The NDP 23% 24% 33% 17% 19% 26% 32% 20% 21% 27% 25% 27% 24% 23% 27% 21% 33% 28% 16% 11% 16% 23% 34% 24% 19%
* * * * - * * - * * * R* R* - * TU -
74 37 8 29 6 11 6 13 20 10 21 19 9 65 30 44 6 21 48 - 29 35 9 59 16

The Progressive Conservatives 20% 26% 13% 35% 19% 21% 30% 13% 28% 16% 24% 19% 12% 23% 23% 20% 7% 19% 28% - 36% 26% 9% 19% 37%
B - ABG* - - - - - - - * * * * P - v* v -
18 6 4 2 2 2 1 7 3 7 5 3 8 10 6 12 8 8 1 6 5 3 3 18 -
The Green Party 5% 4% 6% 2% 7% 3% 4% 7% 4% 10% 5% 3% 10% 3% 4% 5% 10% 8% 1% 14% 7% 2% 3% 6% -
- - - - - - - - - M* * R* R* - - -
82 30 14 17 10 14 6 19 16 15 12 20 21 61 24 58 14 27 41 5 21 37 19 70 10

None of them - they're all the same 23% 21% 22% 20% 33% 25% 30% 18% 23% 24% 14% 19% 27% 21% 18% 26% 18% 25% 24% 13% 26% 27% 18% 22% 23%
- - - - - - - - - * * * * - - v -
362 145 62 83 31 55 21 103 69 63 89 103 77 285 133 224 79 110 174 40 82 135 104 312 42

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you which party do you think is best to deal with them? Dealing with health backlogs
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Now, on these three issues that are important to you, which party do you think is best to deal with them? - Economic recovery
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Now, on these three issues that are important to you which party do you think is best to deal with them? Help with cost of day-to-day needs (like groceries and gas)
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Now, on these three issues that are important to you, which party do you think is best to deal with them? - Help to make housing more affordable for the middle class and working families
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Now, on these three issues that are important to you, which party do you think is best to deal with them? - Creation of more low-cost /affordable housing for the poor and homeless
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Now, on these three issues that are important to you which party do you think is best to deal with them? Economy and jobs
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Now, on these three issues that are important to you which party do you think is best to deal with them? Lower taxes

<$6 <$100K

Base: All Answering (unwtd) 172 80 a1 39 13 18 7 50 30 20 37 66 48 124 82 90 46 80 46 2 30 76 64 145 23
Base: All Answering (wtd) 170 86 39 47 11 20 9 40 46 18 31 54 a5 125 89 81 55 67 48 12 58 61 38 145 20
16 8 4 4 1 3 - 4 4 1 3 7 S 11 11 5 10 5 2 - 2 S 9 14 2
The Liberals 9% 9% 10% 8% 7% 14% - 11% 10% 7% 9% 12% 11% 9% 12% 6% 17% 7% 3% - 3% 8% 23% 10% 8%
* o o - - - * - - * * - * * * - * * - - * u* * -
8 4 2 2 - 1 - 3 1 2 2 2 2 6 2 5 1 4 3 - 1 S 2 6 1
The NDP 4% 5% 5% 4% - 4% - 7% 3% 13% 7% 4% 4% 4% 3% 7% 2% 6% 5% - 2% 8% 4% 4% 6%
* o o - - - * - - * * - * * * - * * - - * * * -
84 34 14 20 7 13 6 21 18 9 17 27 18 66 45 39 13 41 30 4 28 35 16 69 11
The Progressive Conservatives 49% 39% 35% 43% 63% 65% 60% 52% 38% 52% 54% 49% 39% 53% 51% 48% 23% 62% 63% 33% 49% 58% 43% 47% 56%
- o o - - - - - - - * - * * * - * * - - - - - -
7 5 1 4 - - - 1 1 1 - 3 1 6 5 2 4 2 - - 5 2 - 7 -
The Green Party 4% 6% 2% 9% - - - 3% 3% 5% - 6% 2% 4% 5% 2% 8% 3% - - 8% 3% - 4% -
- o o - - - - - - - * - * * * - * * - - - - - -
56 35 19 16 3 3 4 10 22 4 9 16 19 36 26 30 28 15 13 8 22 14 11 50 6
None of them - they're all the same 33% 41% 48% 35% 31% 17% 40% 26% 47% 23% 30% 29% 43% 29% 30% 37% 50% 22% 28% 67% 38% 23% 30% 34% 31%
- o o - - - - - - - * - * * * - * * - - - - - -
170 86 39 47 11 20 9 40 46 18 31 54 45 125 89 81 55 67 48 12 58 61 38 145 20
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Lower energy costs

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) a7 16 1 5 5 10 5 1 8 7 10 14 14 33 25 22 7 17 23 1 8 25 13 39 8
Base: All Answering (wtd) a9 18 10 8 6 9 6 10 10 6 7 19 13 36 24 25 8 18 23 4 17 20 8 39 10
4 1 1 - - 1 - 1 1 - 2 1 2 2 2 2 1 2 1 - - 2 2 4 -
The Liberals 8% 7% 13% - - 13% - 14% 15% - 26% 3% 15% 5% 9% 7% 9% 1% 5% - - 10% 2% 10% -
I - - - - - - - - - - - - - - - - - - - - - - -
B 1 1 1 - - - 4 1 - - B - B 1 4 - 4 1 4 - - 1 B -
The NDP 1% 8% 6% 10% - - - 2% 6% - - 26% - 15% 6% 16% - 2% 6% 100% - - 19% 14% -
I I - - - - - - - - - - - - - - - - - - - = - -
25 10 4 6 3 8 2 2 3 1 3 12 7 18 14 12 B 7 13 - 1 1 3 19 6
The Progressive Conservatives 52% 57% 40% 77% 59% 80% 30% 25% 34% 23% 50% 63% 53% 52% 57% 47% 60% 42% 57% - 66% 57% 34% 50% 61%
I I I - - - - - - - - - - - - - - - - - - - - -
3 2 1 1 - - 1 - 1 1 - 1 1 2 2 1 - 2 1 - - 3 - 2 1
The Green Party 6% 10% 7% 13% - - 15% - 10% 13% - 6% 8% 5% 7% 4% - 10% 4% - - 14% - 4% 11%
- - - - - - - - - - - - - - - - - - - - - - - -
12 3 3 - 2 1 4 2 3 4 2 1 3 8 5 6 3 3 6 - 6 4 2 9 3
None of them - they're all the same 24% 18% 34% - 1% 7% 56% 19% 35% 64% 23% 3% 25% 23% 21% 26% 31% 15% 28% - 34% 19% 25% 2% 29%
- - - - - - - - - - - - - - - - - - - - - - - -
49 18 10 8 6 9 6 10 10 6 7 19 13 36 24 25 8 18 23 4 17 20 8 39 10
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Debt repayment and balanced budget

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) a7 20 9 1 6 5 4 1 8 6 14 17 5 a2 34 13 12 12 23 - 10 16 21 39 7
Base: All Answering (wtd) a9 22 8 14 6 6 3 8 9 8 13 17 5 a3 37 12 16 10 23 - 21 14 13 38 8
4 1 1 1 2 - - 1 1 2 2 - - 4 4 1 1 - 4 - 2 1 2 4 -
The Liberals 9% 6% 7% 6% 38% - - 8% 7% 2% 15% - - 10% 10% 4% 3% - 17% - 8% 5% 15% 12% -
I I I - - - - - - - - - - - - - - - - - = - -
2 1 1 - 1 - - 1 2 - 1 - - 2 - 2 1 1 1 - 1 1 1 2 1
The NDP 5% 3% 8% - 1% - - 15% 19% - 5% - - 6% - 20% 4% 12% 3% - 5% 5% 5% 5% 8%
I I - - - - - - - = - - - - - - - - - - - - -
25 10 2 8 3 5 1 3 3 6 4 1 2 23 19 5 10 3 1 - 12 6 7 15 6
The Progressive Conservatives 51% 46% 23% 59% 51% 74% 2% 40% 28% 70% 33% 63% 32% 53% 52% 46% 64% 34% 48% - 55% 40% 55% 41% 76%
= - I - - - - - - - - - - - - - - - - - - - -
1 1 - 1 - - - - 1 - - - 1 - 1 - 1 - - - - 1 - 1 -
The Green Party 3% 7% - 10% - - - - 16% - - - 28% - 4% - 9% - - - - 10% - 4% -
- - - - - - - - - - - - - - - - - - - - - - -
16 9 5 4 - 2 3 3 3 1 6 6 2 14 12 4 3 5 7 - 7 6 3 14 1
None of them - they're all the same 33% 39% 62% 25% - 26% 78% 37% 30% 8% 7% 37% 40% 32% 33% 30% 20% 54% 33% - 31% 41% 26% 39% 16%
I - - - - - - - - - - - - - - - - - - - - - -
49 2 8 14 6 6 3 8 9 8 13 17 5 43 37 12 16 10 23 - 21 14 13 38 8
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Integrity in government and its leaders

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 53 23 9 14 5 8 1 12 7 8 13 20 11 4 26 26 6 22 25 - 5 25 23 42 7
Base: All Answering (wtd) 44 22 8 15 5 6 1 6 6 8 10 17 9 35 22 20 6 18 20 - 9 21 14 34 6
9 3 1 2 2 1 - 2 - 2 3 4 3 6 4 4 1 5 3 - 1 4 3 7 1

The Liberals 20% 13% 10% 15% 45% 10% - 34% - 26% 26% 22% 36% 16% 19% 22% 13% 25% 17% - 17% 20% 21% 21% 11%
o o o - - - - - - - - - * - - - - - - - - * -
8 5 4 1 - 1 - 2 1 2 2 2 - 8 2 6 1 * 7 - 2 2 S 8 -
The NDP 19% 21% 52% 5% - 12% - 35% 9% 30% 17% 14% - 24% 8% 32% 21% 2% 33% - 20% 8% 33% 22% -
o o o - - - - - - - - - * - - - - - - - - * -
4 1 - 1 - 2 - 1 1 1 - 2 1 2 3 * 1 2 1 - - 1 2 3 1

The Progressive Conservatives 8% 5% - 7% - 27% - 14% 12% 12% - 11% 15% 6% 15% 2% 17% 10% 4% - - 7% 14% 8% 12%
o o o - - - - - - - - - * - - - - - - - - - -
4 1 - 1 1 1 1 1 1 - 1 2 1 3 2 2 - 1 3 - - 3 1 2 2

The Green Party 9% 5% - 7% 10% 12% 100% 9% 15% - 5% 14% 12% 8% 11% 7% - 6% 14% - - 12% 9% 4% 38%
o o o - - - - - - - - - * - - - - - - - - - -
19 13 3 10 2 2 - * 4 3 5 6 3 16 10 8 3 10 6 - 5 11 3 15 2

None of them - they're all the same 44% 57% 38% 66% 45% 39% - 8% 64% 32% 51% 39% 36% 46% 47% 38% 49% 56% 32% - 63% 52% 22% 44% 39%
o o o - - - - - - - - - * - - - - - - - - - -
44 22 8 15 5 6 1 6 6 8 10 17 9 35 22 20 6 18 20 - 9 21 14 34 6

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Social assistance programs

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 60 21 15 6 5 9 2 20 22 11 11 9 17 a3 28 30 18 28 14 5 7 25 23 57 -

Base: All Answering (wtd) 71 26 18 8 3 8 3 29 36 10 11 5 18 53 39 30 20 34 16 24 15 19 13 69 -

11 4 4 1 - 1 - 6 1 1 2 1 S 6 S 6 4 2 5 S 2 2 2 11 -

The Liberals 16% 17% 21% 8% - 11% - 20% 2% 7% 21% 16% 28% 11% 12% 21% 18% 6% 32% 20% 16% 10% 15% 16% -
o o o - - - - - - - - - - - - - - - - - - -

33 13 13 - 2 5 - 13 24 2 2 3 3 30 21 10 9 20 4 15 2 9 7 33 -

The NDP 47% 50% 71% - 61% 67% - 44% 68% 20% 21% 52% 16% 57% 54% 35% 43% 59% 25% 63% 16% 48% 50% 47% -
o o o - - - - - - - - - - - - - - - - - - -

13 5 1 4 1 1 - 7 7 5 1 1 S 9 9 4 S 6 3 4 S 3 1 13 -

The Progressive Conservatives 19% 19% 4% 54% 20% 14% - 24% 19% 46% 13% 13% 26% 16% 24% 13% 24% 17% 16% 17% 34% 16% 11% 19% -
o o o - - - - - - - - - - - - - - - - - - -

8 3 * 2 - 1 3 1 2 1 5 - 3 5 1 7 3 3 3 - 4 3 1 7 -

The Green Party 11% 10% 2% 28% - 7% 81% 5% 5% 9% 45% - 18% 9% 3% 22% 13% 8% 16% - 27% 15% 8% 10% -
o o o - - - - - - - - - - - - - - - - - - -

6 1 * 1 1 - 1 2 2 2 - 1 2 3 3 3 * 3 2 - 1 2 2 5 -

None of them - they're all the same 8% 5% 2% 10% 20% - 19% 7% 6% 17% - 20% 12% 6% 7% 9% 2% 10% 10% - 8% 11% 17% 7% -
o o o - - - - - - - - - - - - - - - - - - -

71 26 18 8 3 8 3 29 36 10 11 5 18 53 39 30 20 34 16 24 15 19 13 69 -

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% -




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Tackling climate change

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 75 27 20 7 13 15 1 19 16 9 21 25 6 69 39 34 20 24 31 3 6 31 35 69 6
Base: All Answering (wtd) 71 23 17 7 10 12 1 25 23 9 17 18 4 67 a3 26 17 21 33 15 10 24 22 66 5
21 4 3 1 1 3 - 12 13 * 4 S 1 21 16 5 2 3 16 11 3 3 S 21 -
The Liberals 30% 19% 21% 14% 14% 26% - 50% 54% 4% 20% 27% 18% 31% 38% 20% 13% 13% 49% 70% 30% 11% 23% 32% -
- - - - - - - - - - e e * e e e e e F F F * * F
14 4 3 1 2 3 - 6 2 7 3 3 1 13 8 5 5 6 4 S - 6 4 13 1
The NDP 20% 18% 17% 20% 18% 22% - 24% 8% 71% 16% 17% 35% 20% 19% 18% 27% 26% 13% 30% - 26% 17% 20% 25%
- - - - - - - - - - e e * e e e e e F P F * * F
4 3 1 2 - 1 - - - - 2 2 - 4 4 - 1 1 2 - - 2 2 4 -
The Progressive Conservatives 5% 11% 4% 29% - 9% - - - - 10% 11% - 5% 9% - 4% 5% 6% - - 9% 7% 6% -
> > > r r r r r r r e e * e e e e e r r r * * r
25 10 8 2 3 5 1 6 6 2 9 7 1 24 14 11 6 10 9 - 5 10 10 23 2
The Green Party 35% 44% 46% 37% 31% 43% 100% 24% 24% 25% 54% 39% 32% 36% 32% 44% 37% 50% 26% - 52% 40% 47% 35% 37%
> > > r r r r o o o e e * e e e e e r r r * * r
6 2 2 - 4 - - 1 3 - - 1 1 6 1 5 3 1 2 - 2 3 1 4 2
None of them - they're all the same 9% 8% 12% - 38% - - 3% 14% - - 7% 15% 8% 3% 19% 18% 6% 6% - 18% 14% 6% 7% 38%
> > > o o o o o o o e e * e - e e e r r r * * r
71 23 17 7 10 12 1 25 23 9 17 18 4 67 43 26 17 21 33 15 10 24 22 66 5
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you which party do you think is best to deal with them? Crime and public safety

<$6 <$100K

Base: All Answering (unwtd) 123 69 35 34 8 10 7 25 17 22 34 40 34 89 59 63 25 a5 53 5 15 4 59 107 12
Base: All Answering (wtd) 138 89 39 a9 7 9 6 23 28 29 38 30 40 97 66 70 35 a1 62 33 31 38 36 125 9
8 6 3 3 - - 1 1 1 1 3 3 2 7 4 5 3 * 5 - - 2 6 8 -
The Liberals 6% 6% 7% 5% - - 17% 5% 2% 2% 8% 1% 4% 7% 5% 7% 10% 1% 7% - - 7% 17% 6% -
I I - - - - = - - - * - * - - - - - - - * * * -
1 4 1 3 - 1 2 5 3 5 2 1 2 9 8 3 2 8 2 B - B 2 1 -
The NDP 8% 5% 3% 6% - 9% 29% 19% 1% 19% 6% 2% 6% 9% 12% 5% 5% 20% 3% 14% - 12% 6% 9% -
- I I - = - - - - - * - * - - - = - - - * * * -
76 48 1 37 2 6 3 14 10 17 27 18 16 60 36 38 15 18 43 15 21 21 19 68 7
The Progressive Conservatives 55% 54% 28% 75% 35% 71% 54% 62% 38% 59% 69% 60% 40% 61% 55% 54% 44% 43% 69% 45% 67% 56% 53% 54% 83%
- - P - - - - - - - * - * - - - - - - - * * * -
2 1 - 1 - - - 2 1 1 - * 1 1 * 2 - 1 1 - 1 - 1 2 -
The Green Party 2% 1% - 1% - - - 7% 5% 2% - 1% 3% 1% 1% 3% - 2% 2% - 4% - 3% 2% -
- - - - - - - - - - * - * - - - - - - - * * * -
40 30 24 6 4 2 - 2 12 5 6 8 19 21 18 2 15 14 1 14 9 10 8 36 2
None of them - they're all the same 29% 34% 61% 12% 65% 20% - 7% 45% 18% 17% 25% 48% 21% 27% 32% 42% 33% 19% 41% 29% 25% 2% 29% 17%
- - - - - - - - - - * - * - - - - - - - * * * -
138 89 39 49 7 9 6 23 28 29 38 30 40 97 66 70 35 41 62 33 31 38 36 125 9
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Maintaining roads

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids No Kids male 18-34 g
<$60K | <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 21 8 4 4 1 2 3 6 2 1 7 8 6 15 14 7 4 9 8 1 2 9 9 17 3
Base: All Answering (wtd) 25 14 2 12 1 2 3 5 2 1 14 6 4 21 12 13 5 5 15 9 3 7 6 21 3
1 * * - - 1 - - * - - 1 - 1 * 1 - 1 - - - 1 * 1 -
The Liberals 5% 4% 23% - - 48% - - 32% - - 13% - 6% 4% 6% - 24% - - - 11% 9% 6% -
- - - - - - - - - - e e e e e e e e F F F F F F
2 - - - - - 1 1 - - 1 * - 2 1 * - 1 * - - 1 1 1 1

The NDP 7% - - - - - 31% 15% - - 10% 5% - 8% 11% 3% - 23% 3% - - 13% 14% 4% 27%
- - - - - - - - - - e e e e e e e e F P F F F F
21 13 2 12 1 1 2 4 1 1 12 5 4 17 10 11 4 2 15 9 3 4 4 18 2

The Progressive Conservatives 82% 96% 77% 100% 100% 52% 69% 74% 68% 100% 86% 82% 87% 81% 80% 84% 79% 43% 97% 100% 100% 55% 78% 87% 73%
> > > r r r r r r r e e e e e e e e r r r r r r
2 - - - - - - 1 - - 1 - 1 1 1 1 1 1 - - - 2 - 1 -
None of them - they're all the same 6% - - - - - - 11% - - 4% - 13% 5% 5% 7% 21% 10% - - - 21% - 3% -
> > > r r r r o o o e e e e e e e e r r r r r r
25 14 2 12 1 2 3 5 2 1 14 6 4 21 12 13 5 5 15 9 3 7 6 21 3

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Investing in public transit

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids No Kids male 18-34 g
<$60K | <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 31 19 17 2 - 6 - 5 5 4 9 10 9 22 18 13 5 20 6 1 2 1 17 30 -

Base: All Answering (wtd) 26 13 1 2 - 5 - 6 7 2 7 7 5 21 15 1 4 16 6 4 4 9 10 24 -

7 B 4 1 - 2 - - 1 1 3 3 1 6 4 3 - 3 4 - 2 3 2 7 -

The Liberals 27% 2% 39% 60% - 32% - - 9% 29% 47% 36% 24% 28% 26% 28% - 18% 63% - 51% 40% 16% 29% -
= - - - - = - - - - - - - - - - - - = -

6 3 3 - - 2 - 1 2 1 3 1 1 6 5 1 2 2 2 - - 3 3 6 -

The NDP 24% 24% 28% - - 40% - 20% 24% 31% 47% 10% 15% 26% 36% 9% 61% 10% 37% - - 40% 30% 26% -
- - - - - - - - - - - - - - - - - - = -

9 2 2 1 - - - 4 4 1 - 2 1 7 4 5 1 8 - 4 2 * 2 7 -

The Progressive Conservatives 34% 18% 15% 40% - - - 73% 57% 40% - 27% 28% 35% 26% 44% 18% 51% - 100% 49% 6% 24% 28% -
- - I - - - - - - - - - - - - - - - - -

2 1 1 - - 1 - - - - * 1 1 1 1 1 - 2 - - - - 2 2 -

The Green Party 6% 7% 8% - - 13% - - - - 7% 15% 13% 4% 4% 8% - 10% - - - - 16% 6% -
- I - - - - - - - - - - - - - - - - - -

2 1 1 - - 1 - * 1 - - 1 1 1 1 1 1 2 - - - 1 1 2 -

None of them - they're all the same 10% 9% 1% - - 16% - 8% 10% - - 1% 20% 7% 8% 1% 21% 1% - - - 14% 13% 10% -
I - - - - - - - - - - - - - - - - - - -

26 13 1 2 - 5 - 6 7 2 7 7 5 21 15 1 4 16 6 4 4 9 10 24 -

Sigma 100% 100% 100% 100% - 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% -




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Issues important to small town and rural Ontario

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids No Kids male 18-34 g
<$60K | <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 14 1 1 - 2 2 4 5 7 - 4 3 3 1 8 6 5 2 7 - 4 7 3 8 6
Base: All Answering (wtd) 16 1 1 - 2 2 7 4 10 - 4 2 2 14 8 7 6 1 8 - 8 6 2 10 6
1 - - - - - - 1 - - 1 1 - 1 - 1 1 - 1 - - 1 - 1 1
The Liberals 8% - - - - - - 33% - - 16% 30% - 9% - 17% 1% - 7% - - 2% - 7% 9%
- - - - - - - - - - - - - - - - - - - - -
B - - - - - 4 1 4 - 1 - * 5 3 2 1 1 3 - 2 3 * 4 1
The NDP 34% - - - - - 59% 31% 45% - 25% - 19% 36% 37% 30% 13% 100% 39% - 28% 48% 19% 46% 15%
- - - - - - - - - = - - - - - - - - = - =
4 1 1 - 1 1 - 1 - - 2 2 2 2 2 1 2 - 2 - 1 1 2 2 2
The Progressive Conservatives 23% 100% 100% - 33% 48% - 36% - - 59% 70% 81% 15% 28% 18% 26% - 25% - 17% 13% 81% 16% 34%
I I - - - - - - - - - - - - - - - - - - -
5 - - - 2 1 3 - B - - - - 5 3 2 3 - 2 - 4 1 - 3 2
None of them - they're all the same 35% - - - 67% 52% 1% - 55% - - - - 40% 35% 34% 49% - 30% - 56% 17% - 31% 41%
- - - - - - - - - - - - - - - - - - - - -
16 1 1 - 2 2 7 4 10 - 4 2 2 14 8 7 6 1 8 - 8 6 2 10 6
Sigma 100% 100% 100% - 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Indigenous issues

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids No Kids male 18-34 g
<$60K | <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 20 8 4 4 4 2 - 6 6 6 1 4 8 12 8 12 10 8 2 1 6 9 4 18 2
Base: All Answering (wtd) 28 17 10 8 4 2 - 5 13 6 1 3 7 21 14 14 13 12 3 6 12 7 3 26 2
2 1 1 - - - - 1 1 - 1 - 1 1 2 - - 2 - - 1 1 - 1 1
The Liberals 7% 2% 7% - - - - 26% 6% - 100% - 20% 3% 14% - - 17% - - 10% 10% - 3% 70%
I I - - - - - - - - - - - - - - - - - - - - =
1 10 8 1 1 - - 1 9 1 - - 1 1 9 3 4 6 1 6 2 3 - 1 -
The NDP 1% 56% 86% 17% 2% - - 2% 71% 19% - - 9% 51% 64% 19% 34% 56% 18% 100% 19% 45% - 44% -
I - - - - - - - - - - - - = - - - - - = - - -
6 3 - 3 2 1 - * 1 3 - 2 1 4 2 3 1 2 3 - 4 1 1 B 1
The Progressive Conservatives 21% 15% - 34% 57% 44% - 7% 1% 44% - 61% 2% 21% 17% 25% 7% 20% 82% - 33% 8% 48% 20% 30%
- - - - - - - - - - - - - - - - - - - - - - -
1 - - - - 1 - - - - - 1 1 - - 1 1 - - - - 1 - 1 -
The Green Party 4% - - - - 56% - - - - - 39% 17% - - 8% 9% - - - - 16% - 4% -
- - - - - - - - - - - - - - - - - - - - - - -
7 4 1 4 1 - - 2 2 2 - - 2 5 1 7 7 1 - - B 1 1 7 -
None of them - they're all the same 27% 25% 6% 49% 2% - - 45% 12% 37% - - 32% 25% 5% 48% 51% 6% - - 38% 21% 52% 28% -
- I I - - - - - - - - - - - - - - - - - - - -
28 17 10 8 4 2 - 5 13 6 1 3 7 21 14 14 13 12 3 6 12 7 3 26 2
Sigma 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Dealing with hate crimes and systemic racism

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 29 18 8 10 1 1 1 8 9 7 4 6 7 22 14 12 7 14 8 1 3 1 14 28 1
Base: All Answering (wtd) 32 23 3 17 1 1 3 5 17 5 3 4 12 20 12 17 9 16 8 8 6 10 8 32 *
4 3 1 2 - - - 1 1 1 - 1 1 3 2 - 2 1 2 - - 3 1 4 -
The Liberals 12% 14% 14% 14% - - - 1% 5% 12% - 20% 4% 17% 18% - 18% 4% 2% - - 28% 1% 12% -
- - - - - - - = - - - - - - - - - - - - - - - -
6 4 1 2 1 - - 2 2 2 - 1 1 4 2 3 3 2 2 - - 4 2 B *

The NDP 18% 16% 20% 14% 100% - - 33% 1% 33% - 25% 1% 23% 18% 17% 30% 10% 20% - - 38% 23% 17% 100%
- - - - - - - - - - = - = - - - - - - - - = - -
15 13 2 1 - - - 3 1 * 2 1 10 B 4 12 2 10 3 8 3 1 4 15 -
The Progressive Conservatives 48% 56% 30% 65% - - - 56% 64% 7% 84% 29% 85% 25% 30% 71% 19% 67% 44% 100% 51% 7% 49% 49% -
- - - - - - - - - - - - - - - - - - - - - - - -
1 1 1 - - - - - - 1 * - - 1 1 * - 1 - - - 1 * 1 -
The Green Party 2% 5% 20% - - - - - - 16% 16% - - 6% 6% 3% - 7% - - - 7% 5% 4% -
I - - - - - - - - - - - - - - - - - - - - - - -
6 2 1 1 - 1 3 - 3 1 - 1 - 6 3 2 3 2 1 - 3 2 1 6 -
None of them - they're all the same 19% 9% 16% 7% - 100% 100% - 20% 32% - 26% - 30% 28% 9% 33% 12% 14% - 49% 20% 12% 19% -
I - - - - - - - - - - - - - - - - - - - - - - -
32 23 6 17 1 1 3 5 17 5 3 4 12 20 12 17 9 16 8 8 6 10 8 32 *

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you which party do you think is best to deal with them? Education

<$6 <$100K

Base: All Answering (unwtd) 13 a8 26 2 10 17 4 31 1 1 25 54 49 64 52 61 40 a1 32 3 13 40 57 102 8
Base: All Answering (wtd) 112 58 37 21 7 15 6 23 27 10 21 a1 a4 68 59 53 a7 33 32 19 25 35 33 103 7
40 20 8 12 2 4 2 1 7 1 8 21 17 23 24 16 13 9 18 B 6 12 17 36 2
The Liberals 36% 34% 2% 54% 27% 28% 32% 46% 27% 13% 38% 51% 39% 33% 41% 30% 27% 28% 56% 28% 24% 34% 50% 35% 30%
I - I - - - - - - - * - - - * - - - - - * * * -
20 7 6 2 1 6 - 6 2 4 4 10 8 13 9 1 8 5 7 - 6 6 8 19 1
The NDP 18% 13% 16% 7% 20% 37% - 25% 8% 44% 17% 24% 18% 18% 16% 21% 18% 16% 21% - 23% 18% 25% 19% 18%
- - - - - - - - - - * - - - * - - = - - * * * -
20 15 12 3 * 3 1 1 1 - 4 B 4 17 16 4 12 4 3 8 2 7 3 20 -
The Progressive Conservatives 18% 27% 33% 15% 5% 18% 16% 3% 38% - 18% 13% 8% 24% 27% 8% 26% 14% 1% 44% 8% 19% 9% 19% -
= - - - - - - - - - * - - - * - - - - - * * * -
6 2 - 2 * 1 - 2 - 2 1 2 4 1 1 5 3 3 - - 2 3 1 B -
The Green Party 5% 4% - 10% 5% 2% - 7% - 16% 3% 5% 10% 2% 1% 9% 6% 8% - - 6% 8% 3% 5% -
- - - - - - - - - - * - - - * - - - - - * * * -
26 14 1 3 3 2 3 5 8 3 5 3 1 15 9 17 1 1 4 B 10 7 4 23 3
None of them - they're all the same 23% 23% 29% 13% 43% 14% 52% 19% 27% 28% 23% 7% 26% 22% 15% 32% 23% 35% 13% 28% 39% 20% 13% 2% 52%
- - - - - - - - - - * - - - * - - - - - * * * -
112 58 37 21 7 15 6 23 27 10 21 41 44 68 59 53 47 33 2 19 25 35 33 103 7
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you which party do you think is best to deal with them? Managing relations with the United States

<$6 <$100K

Base: All Answering (unwtd) 136 58 24 34 13 19 5 38 14 15 a1 50 33 103 59 76 16 39 81 2 20 58 56 118 15
Base: All Answering (wtd) 136 67 18 50 1 19 6 29 16 20 a5 38 21 115 62 73 16 26 95 14 40 49 33 114 19
13 6 3 3 - 2 1 1 1 - 2 7 1 12 3 8 5 3 5 - 2 7 4 10 -
The Liberals 9% 9% 15% 7% - 9% 19% 2% 6% - 2% 19% 7% 10% 5% 1% 29% 12% 5% - 6% 14% 12% 9% -
I - I - = - - - - - * - * * * = * * - - * * * -
B 2 1 1 1 - - 2 * 1 1 1 4 1 2 2 2 2 1 - - 4 1 4 1
The NDP 3% 3% 2% 3% 5% - - 7% 2% 6% 1% 3% 17% 1% 4% 3% 1% 6% 1% - - 8% 3% 4% 3%
I I I = - - - - - - * - * * * - * * - - * * * -
99 53 14 39 7 14 5 20 1 17 35 26 1 88 48 51 7 16 77 14 35 25 24 84 14
The Progressive Conservatives 73% 79% 78% 79% 69% 71% 81% 68% 70% 85% 77% 68% 53% 76% 79% 69% 43% 61% 81% 100% 87% 51% 75% 74% 76%
I = I - - - - - - - * - * * * - * o - - * o * -
1 - - - - - - 1 1 - - - 1 - 1 - - 1 - - - 1 - 1 -
The Green Party * - - - - - - 2% 3% - - - 3% - 1% - - 2% - - - 1% - * -
- - - - - - - - - - * - * * * - * * - - * * * -
19 6 1 6 3 4 - 6 3 2 8 4 4 14 7 12 3 5 1 - 3 13 3 15 4
None of them - they're all the same 14% 9% 3% 12% 26% 20% - 20% 18% 8% 17% 10% 21% 13% 1% 16% 17% 19% 12% - 7% 26% 10% 13% 21%
I I - - - - - - - - * - * * * - * * - - v * * -
136 67 18 50 1 19 6 29 16 20 45 38 21 115 62 73 16 26 9% 14 40 49 33 114 19
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Increasing inter-provincial trade

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids male 18-34 g
<460l <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 54 12 6 6 7 10 2 22 7 1 17 17 9 a5 32 22 7 10 37 - 4 22 28 40 13
Base: All Answering (wtd) 40 9 3 3 6 9 2 13 7 9 1 12 6 34 23 17 5 6 29 - 7 18 16 30 9
8 3 1 2 2 3 - 1 1 2 - B 1 7 B 3 1 - 7 - 2 4 3 7 1
The Liberals 20% 29% 25% 31% 31% 29% - 8% 12% 28% - 41% 16% 21% 23% 17% 17% - 25% - 26% 20% 18% 25% 7%
- - - - - - - - - - - - * = - - - = - = - * -
3 1 1 - - 1 - 1 - - 2 1 - 3 2 1 1 - 2 - - 1 2 1 1
The NDP 8% 6% 18% - - 7% - 8% - - 16% 5% - 9% 8% 8% 1% - 8% - - 4% 15% 4% 14%
I - - - - - - - - - - - * - - - - - - - = * -
19 5 2 3 3 1 2 8 3 6 6 4 4 16 12 8 4 4 12 - 1 1 7 15 4
The Progressive Conservatives 48% 51% 57% 48% 60% 7% 100% 63% 46% 62% 54% 33% 62% 46% 50% 46% 72% 63% 40% - 20% 60% 46% 51% 2%
I I I - - - - - - - - - * - - - - - - - - * -
1 - - - 1 1 - - - - 1 - 1 1 1 - - 1 1 - - - 1 1 1
The Green Party 3% - - - 9% 7% - - - - 10% - 1% 1% 5% - - 1% 2% - - - 7% 2% 5%
- - - - - - - - - - - - * - - - - - - - - * -
9 1 - 1 - 4 - 3 3 1 2 2 1 8 3 5 - 2 7 - 4 3 2 B 3
None of them - they're all the same 21% 13% - 21% - 50% - 21% 2% 10% 20% 20% 1% 23% 15% 30% - 26% 24% - 54% 16% 13% 18% 32%
- - - - - - - - - - - - * - - - - - - - - * -
40 9 3 6 6 9 2 13 7 9 1 12 6 34 23 17 5 6 29 - 7 18 16 30 9
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%




Now, on these three issues that are important to you, which party do you think is best to deal with them? - Some other issue

Total [GTA-Total| GTA-416 | GTA-905 | Central East [ outhwest [ <$40K $40K $60K $100K+ Kids No Kids Male male 18-34 g
<$60K | <$100K
A B [ D E F G H | J K L ™M N o P

Gendel A

S e
Q R S T u \ w X

Base: All Answering (unwtd) 12 2 1 1 - 1 2 6 4 - 2 5 3 9 4 7 4 6 2 - 3 7 2 10 1
Base: All Answering (wtd) 13 3 1 2 - 1 4 4 5 - 3 4 4 9 4 8 6 5 1 - 7 5 1 9 3
2 1 1 - - - - 1 - - * 1 1 1 1 1 1 1 * - - 1 * 2 -
The Liberals 14% 25% 100% - - - - 26% - - 15% 34% 31% 8% 28% 9% 11% 13% 44% - - 26% 57% 20% -
- - - - - - - - e e e e e e e e F F F F F
3 - - - - - 1 2 1 - - 2 - 3 3 - 3 - - - 2 1 - 3 -
The Progressive Conservatives 24% - - - - - 33% 42% 26% - - 44% - 34% 72% - 48% - - - 27% 23% - 33% -
- - - - - - - - e e e e e e e e P F F F F
8 2 - 2 - 1 3 1 3 - 3 1 3 5 - 7 3 5 1 - S 3 * 4 3
None of them - they're all the same 62% 75% - 100% - 100% 67% 32% 74% - 85% 22% 69% 59% - 91% 41% 87% 56% - 73% 51% 43% 47% 100%
> > > r r r r r e e e e e e e e r r r r r
13 3 1 2 - 1 4 4 5 - 3 4 4 9 4 8 6 5 1 - 7 5 1 9 3
Sigma 100% 100% 100% 100% - 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100%




